
2014-08-23    
WEATHER :   Fine    
COURSE    :   Dry             
Road Course 4.801379Km

2014MOTEGI　2&4

Japanese Formula ３

2014年 全日本ﾌｫｰﾐｭﾗ3選手権　第10戦/第11戦

第10戦決勝  Lap Time Chart
勝田貴元 /Takamoto Katsuta　　PETRONAS TEAM TOM'S Dallara F312 1

清原　章太  TODA RACING   Dallara F312 2

山下健太 /Kenta Yamashita　　PETRONAS TEAM TOM'S　　Dallara F31436

ﾅﾆﾝ･ｲﾝﾄﾞﾗ･ﾊﾟﾕｰﾝｸﾞ/Nanin Indra-Payoong  CERUMO INGING Jr.  Dallara F31238

三浦 愛 /Ai Miura　　EXEDY RACING TEAM　　Dallara F3063

小泉洋史 /Hiroshi Koizumi  HANASHIMA RACING  Dallara F3066

湯澤翔平 /Shohei Yuzawa  KCMG  Dallara F30819

DRAGON  B-MAX Racing Team  Dallara F30630

久保凛太郎 / Rintaro Kubo  TOCHIGI Le Beausset Motorsport  Dallara F30862

サム・マックラウド /Sam Macleod  TDC with SJM F314   Dallara F314  21

三浦 勝 / Masaru Miura  アルボルアルデアCMS30677

山口大陸 /Tairoku Yamaguchi  TAIROKU EXCEED  Dallara F30628

高星明誠 /Mitsunori TakaboshiB-MAX Racing Team with NDDP　　Dallara F31222

佐々木大樹 /Daiki Sasaki B-MAX Racing Team with NDDP 　　Dallara F312 23

吉田基良 /Motoyoshi Yoshida B-MAX Racing Team Dallara F312 13

高橋 翼 /Tsubasa TakahashiHFDP RACING　　Dallara F3128

松下信治 /Nobuharu Matsushita HFDP RACING Dallara F312 7

1=
2=
3=

 1'52.598
 1'47.262
 1'47.260

 

4=
5=
6=

1'47.089
 1'47.139
 1'47.030

7=
8=
9=

* 1'47.020
 1'47.397
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 1'51.620

 

4=
5=
6=

1'50.777
 1'51.404
* 1'50.721
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 1'51.461
 1'51.322
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1'47.546
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 1'51.131

 

13=
14=

1'51.177
 1'51.622
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 1'47.869
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 1'47.839
 1'47.797
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 1'51.013

 

4=
5=
6=

1'51.437
 1'51.261
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1=  1'53.630 2= * 1'47.695
 

3= 1'47.950


